44th BCS Preliminary Question
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Question 35: Select the appropriate preposition: ‘Are you doing anything special
____the weekend?’



A. for
B. with
C.on
D. at

Answer: C) on

Explanation: The preposition "on" is used with days and dates, including "the
weekend."

Question 36: What is the plural form of 'sheep'?
A. sheeps

B. sheepses

C. sheepes

D. sheep

Answer: D) sheep

Explanation: The word 'sheep’ is an irregular noun that remains the same in both its
singular and plural forms.

Question 37: Sweet are the uses of adversity' is quoted from Shakespeare's —
A. Julius Caesar

B. Macbeth

C. Comedy of Errors

D. As you Like It

Answer: D) As You Like It

Explanation: The phrase is spoken by Duke Senior in Act 2, Scene 1 of "As You Like
It."

Question 38: What is the verb form of the word ‘ability'?
A. capable

B. inability

C. unable

D. enable



Answer: D) enable

Explanation: The verb form of 'ability' is 'enable' because it means to give someone the
ability to do something.

Question 39: The word 'equivocation’ refers to -
A. stating like an author

B. a true statement

C. free expression of opinions

D. two contradictory things in the same statement

Answer: D) two contradictory things in the same statement

Explanation: Equivocation involves using ambiguous language to conceal the truth or
to avoid committing to a single point of view, often resulting in a statement that contains
contradictory elements.

Question 40: "Life's but a walking shadow, a poor player, That struts and frets his
hour upon the stage, And then is heard no more;" These memorable lines in
Shakespearean tragedy are spoken by -

A. Lady Macbeth

B. Banquo

C. Duncan

D. Macbeth

Answer: D) Macbeth

Explanation: Macbeth speaks these lines in Act 5, Scene 5 of the play "Macbeth,"
reflecting on the futility and transient nature of life after hearing of Lady Macbeth's
death.

Question 41: Which of the following words is spelled correctly?
A. authoratative
B. autheritative
C. authoratative
D. authoritative



Answer: D) authoritative

Explanation: "Authoritative" is spelled correctly with the sequence of letters
"a-u-t-h-o-r-i-t-a-t-i-v-e."

Question 42: Find out the active form of the sentence: "Who can save our
country?”

A. Who will save our country?

B. Our country has been saved by who?

C. Who save our country?

D. Who can save our country?

Answer: D) Who can save our country?

Explanation: The sentence is already in active voice, maintaining the structure "who"
as the subject and "can save" as the verb.

Question 43: "All changed, changed utterly: A terrible beauty is born." This
extract is taken from W. B. Yeats' poem titled—

A. No Second Troy

B. The Wild Swans at Coole

C. The Second Coming

D. Easter 1916

Answer: D) Easter 1916

Explanation: The phrase reflects the transformation and upheaval following the Easter
Rising, a central theme of "Easter 1916."

Question 44: All for Love' is a drama written by—
A. Francis Bacon

B. William Congreve

C. John Bunyan

D. John Dryden

Answer: D) John Dryden



Explanation: John Dryden wrote "All for Love" as a reimagining of Shakespeare's
"Antony and Cleopatra," showcasing his skills as a playwright during the Restoration
period.

Question 45: Sitting happily, the chicken laid eggs. The underlined part is a/lan—
A. noun clause

B. coordinate clause

C. independent clause

D. subordinate clause

Answer: C) independent clause

Explanation: It can stand alone as a complete sentence and expresses a complete
thought.

Question 46: Caliban is an important character from Shakespeare's—
A. Othello

B. Hamlet

C. Macbeth

D. The Tempest

Answer: D) The Tempest

Explanation: Caliban is a character in "The Tempest," where he is depicted as the son
of the witch Sycorax and serves as a native inhabitant of the island.

Question 47: What kind of noun is 'river'?
A. Material

B. Collective

C. Proper

D. Common

Answer: D) Common

Explanation: River' is a common noun because it refers to a general type of place or
thing without specifying a particular name.



Question 48: Caesar and Cleopatra' is—
A. a tragedy by William Shakespeare

B. a poem by Lord Byron

C. anovel by S. T. Coleridge

D. a play by Bernard Shaw

Answer: D) a play by Bernard Shaw

Explanation: George Bernard Shaw wrote "Caesar and Cleopatra," a play exploring the
relationship between Julius Caesar and Cleopatra.

Question 49: Identify the right tense: 'My father before | came.’
A. would be leaving

B. had been leaving

C. will leave

D. had left

Answer: D) had left

Explanation: The past perfect tense "had left" is used to indicate an action completed
before another past action.

Question 50: Which of the following words is spelled incorrectly?
A. lexicography

B. glycerin

C. idiosyncrasy

D. reminescence

Answer: D) reminiscence
Explanation: "D" is incorrect because the correct spelling is "reminiscence."
Question 51: Who wrote the picaresque novel titled 'Tom Jones'?

A. Samuel Richardson
B. Horace Walpole



C. Laurence Sterne
D. Henry Fielding

Answer: D) Henry Fielding

Explanation: Henry Fielding is the author of "Tom Jones," a classic example of a
picaresque novel, published in 1749.

Question 52: The story of 'Moby-Dick' centers on—
A. a mermaid

B. a shark

C. a crocodile

D. a whale

Answer: D) a whale

Explanation: The story of 'Moby-Dick' revolves around Captain Ahab's obsessive quest
to hunt the giant white whale, Moby Dick.

Question 53: He prayeth best, who loveth best.' —Who said it?
A. John Milton

B. John Donne

C. Lord Byron

D. S.T. Coleridge

Answer: A) John Milton

Explanation: The correct answer is not A) John Milton; it is actually D) S.T. Coleridge.
This line is from Coleridge's poem "The Rime of the Ancient Mariner."

Question 54: The controlling sentence of a paragraph is known as—
A. content modulator

B. terminator

C. thesis statement

D. topic sentence

Answer: C) thesis statement



Explanation: The thesis statement presents the main idea or argument, guiding the
content and direction of the paragraph.

Question 55: Choose the correct comparative form of the sentence: ‘Very few
boys are as industrious as Zaman.'

A. Zaman is one of the most industrious boys.

B. Zaman is as industrious as other boys.

C. Zaman is really industrious like other boys.

D. Zaman is more industrious than most other boys.

Answer: D) Zaman is more industrious than most other boys.

Explanation: The sentence implies Zaman's industriousness surpasses that of most
boys, making option D the accurate comparative form.

Question 56: Identify the appropriate preposition: Your opinion is identical __ to
mine.

A. for

B.in

C. by

D. with

Answer: D) with
Explanation: The preposition "with" is used to indicate similarity or sameness between

two things.

Question 57: Paradise Lost' attempted to—
A. justify the ways of man to God

B. show that Satan and God have equal power
C. explain why both good and evil are necessary
D. justify the ways of God to man

Answer: D) justify the ways of God to man

Explanation: John Milton's "Paradise Lost" aims to explain and defend God's actions



and decisions to humanity, addressing the problem of evil and divine justice.

Question 58: "Oh, lift me as a wave, a leaf, a cloud! | fall upon the thorns of life! |
bleed!" The extract is taken from P. B. Shelley's poem—

A. The Cloud

B. To a Skylark

C. Adonais

D. Ode to the West Wind

Answer: D) Ode to the West Wind

Explanation: The imagery of being lifted like a wave, leaf, or cloud and the themes of
struggle and transformation are central to "Ode to the West Wind."

Question 59: Who wrote the short story "The Ant and the Grasshopper"?
A. Guy de Maupassant

B. O' Henry

C. J. K. Rawlings

D. W. Somerset Maugham

Answer: D) W. Somerset Maugham

Explanation: W. Somerset Maugham wrote "The Ant and the Grasshopper," which is
one of his well-known short stories.

Question 60: The word 'vital' is alan—
A. noun

B. adverb

C. verb

D. adjective

Answer: D) adjective

Explanation: The word 'vital' describes a noun by indicating importance or necessity,
which is a characteristic of adjectives.



Question 61: To get along with' means—
A. to walk

B. to interest

C. to accompany

D. to adjust

Answer: D) to adjust

Explanation: "To get along with" means to adjust because it refers to the ability to
harmonize or be compatible with someone or something.

Question 62: The synonym for ‘panoramic' is—
A. restricted

B. narrow

C. limited

D. scenic

Answer: D) scenic

Explanation: Scenic' relates to beautiful views, similar to 'panoramic,' which involves
wide and comprehensive views.

Question 63: The antonym for 'slothful’ is —
A. playful

B. sluggish

C. quarrelsome

D. energetic

Answer: D) energetic

Explanation: Energetic' is the opposite of 'slothful,’ as it implies being active and full of
energy, while 'slothful' means lazy or inactive.

Question 64: Alexander Pope's 'Essay on Man' is a—
A. novel

B. treatise

C. short story



D. poem
Answer: D) poem

Explanation: "Essay on Man" is written in verse form, characteristic of poetry.

Question 65: By and large' means—
A. everywhere

B. very large

C. far away

D. mostly

Answer: D) mostly

Explanation: "By and large" is an idiom that means "mostly" or "generally."

Question 66: Francis Bacon is an illustrious—
A. journalist

B. dramatist

C. novelist

D. essayist

Answer: D) essayist

Explanation: Francis Bacon is renowned for his essays, which are considered
pioneering works in the development of the essay as a literary form.

Question 67: He could not win but learned a lot."' Which part of speech is the word
'but'?

A. an adverb

B. a verb

C. an adjective

D. a conjunction

Answer: D) a conjunction

Explanation: The word 'but' is used to connect two contrasting ideas or clauses,



making it a conjunction.

Question 68: 2log10 5 + 1og10 36 - log10 9 =?
A.46

B. 100

C.37

D.2

Answer: B) 100

Explanation: Using logarithm properties, 2log10 5 becomes log10 25. Therefore, the
expression simplifies to log10 25 + 10og10 36 - log10 9. Applying the property log10 a +
log10 b =1og10 (a*b) and log10 a - log10 b = log10 (a/b), it becomes log10 (25 * 36 / 9).
Simplifying the fraction, 25 * 36 / 9 equals 100. Therefore, the expression equals log10
100, which is 2, and 1072 is 100.

Question 69: T AHTACHH FST 2T 041 7© T Fiod AN Fo?
A. TS 2¢%
B. Ff© 2%
C. e 0%
D. $fe 0%

Answer: B) $f& 2%

Explanation: [ HI[CTT SNHF 0T, HoF 2T 2T (TS - f[THT[eTs) + T x
$00% = (X = ) + X X $00% = ¢0%, [F& THTYT Gl T HFeFT T T (5 - ) + X X S00%
=3¢%|

Question 70: %6 TRYF f: R—R, f(x) = 2x+1 T &@IT© 2@ £1(2) 97 T Fo?
A.0
B.1
C.5
D.1/2

Answer: B) 1

Explanation: f(2) M@ a5a %6 x 97 M Y& (IF FAT (TN f(x) = 2| TNFFT2x + 1 =2



ST FHC X = 1 T8I IT| ©R F(2) =11

Question 71: ABC fag® B (FTF =319 8v° 993 AB = AC| IME 972 F AB 933 AC-(F
ANASIF (T FE (T4 EF || BC 27, ©1R(T LA + LAFE = ?

A. Sbo°

B. bbo®

C. Sob°

D. Swx°

Answer: B) Svo®

Explanation: Since AB = AC, triangle ABC is isosceles, making ZA = ZC. With 4B =
48°, the sum of angles in triangle ABC is 180°, so LA + ZC =132°. EF || BC implies
ZAFE = ZC (corresponding angles). Therefore, ZA+ LAFE= ZA+ LC =132° +
48° = 180°.

Question 72: I log10x = -1 2F, OIRET G (FE06 x 97 TH?
A. 0.001

B. 0.01

C. 1/10000

D.0.1

Answer: B) 0.01

Explanation: log10x = -1 S x = 1021, A1 0.1 A7 S| AR, SOF &ox D 2F| N
= "% Todlb grreld fbfrs #41 2@@|

Question 73: I -5, p, q, 16 TNTF IAJHC AF, ©RE p 3 q 97 FF (T IVHE -
A.-29

B.2,-9

C.-2,-9

D.29

Answer: B) 2,-9

Explanation: SGR S0 STATE SENET " [T F@ 4FRRFONE T a7 FaT,
(p=-5+7=2\)ak\(q=2+(-11)=-9\)|



Question 74: i-49 A9 {q $©7?
A. -1

B.i

C.1

D. -i

Answer: D) -i

Explanation: i raised to the power of 49 equals i*(48+1), which simplifies to (i*4)*12 * i.
Since i*4 equals 1, the expression simplifies to 1 * i, resulting in i. However, i*2 equals
-1, and i*3 equals -i, so i*49 equals -i.

Question 75: S% 93% 9% A7 TS TG (F1AG2
A. 8¢

B. S»v

C.8

D. vy

Answer: D) vy
Explanation: SUGE TG 2o 96 SRATH SI%e (@ INPE| b 93 R 97 845 b3, IF

TSI 0 |

Question 76:1-1+1-1+1 -1+ ... + n RYF @I F5HT & -
A.0

B. 1

C.[1+(-1)n]

D. (1/2)[1-(-1)n]

Answer: A) 0

Explanation: The series alternates between +1 and -1, and if n is even, pairs of (+1)
and (-1) sum to zero.

Question 77: a%f5 TN I2QEF AM6Tb (FTM SLB° | 97 IR FOSEI I?



A. bo
B. 20
C.5p
D. wo

Answer: B) 0
Explanation: 356 5735 I2g@d Afeft (F19 I S Lb° 27, SRET 29O LR (I FAF

&y IRQEE Aol (FNEE @ \( \frac{(n-2) \times 180}n} = 168 \) 1T Fa00 2F | af6
ST FAE \(n = 20 \) T8I |

Question 78: a3 ¥9A2 fagEd Ied Ef } (I 473 THeT x (I 2, x 97 T (FA6?
A. N2

B.w

C.x
D. V3

Answer: A) 2

Explanation: 5312 fagm®a %ol 932 IRA (MEF 51 eI, THel = (V3/2) x I=RF
@ES| A, IRT G 3 I T, TheT = (V3/2) x 2 = V3 ¢ 5Ifd% Tod V2 93, ©13 WAy
FE A6 T IEIR F |

Question 79: I 4vx3 = 2 TJ, B x3/2 =2
A.8

B. 16

C.64

D.4

Answer: B) 16

Explanation: 4Vx2 = 2 implies x® = 2* = 16. Therefore, x3?2 = V16 = 4.
Question 80: P(A) = 1/3, P(B) = 3/4 X7 A 93 B T19i 26T P(AUB) 47 N9 5972
A.3/4

B.1/3
C. 99 (PG JF|



D. 5/6
Answer: D) 5/6

Explanation: 53 I/l 557, P(A U B) = P(A) + P(B) - P(A)P(B)| @, P(A U B) =
1/3 + 3/4 - (1/3)(3/4) = 5/6 |

Question 81: IIFF AT |3x + 2| < 7 ANN@IbF TNH:
A.-3<x<3

B.-5/3 <x<5/3

C.5/3<x<-5/3

D.-3<x<5/3

Answer: B) -5/3 < x < 5/3

Explanation: |3x + 2| < 7 indicates two inequalities: 3x + 2 <7 and 3x + 2 > -7. Solving
these gives -5/3 < x < 5/3.

Question 82: 6a2bc 932 4ab2c?-aF WY NRGIF SI.91.3. f[AE7 FHH?
A. a2bc

B. 2a2bc

C. 2a2b2c2

D. (62 9%

Answer: B) 2a*bc

Explanation: 32 SXEIF ST.1.8. 3 2, 932 AFI3EF A& a2, b, 472 ¢-97 7o g/
BIQICY!

Question 83: SRR *v¥ valence band 43 conduction band -
A. AT ATF

B. P62 ¥

C. AT G AT

D. 3OTETT ATF

Answer: D) 8STIS AF (Overlap)



Explanation: Conductors have overlapping valence and conduction bands, allowing
electrons to move freely and conduct electricity.

Question 84: THIN (G ATIT A -
A. e1d (F1R1RGA

B. Se1d F1A1RGS

C. SN (FIHRGH

D. o= (@ Rea

Answer: D) fNeTeTd (@12059

Explanation: TGS (86 NTeE (@RS ANENE @9 (V5T RE 970 29, I
A S o0 INIF 76 61|

Question 85: THFRT H(T Nbe ST (T AT AW e TH?
A. BIHFH

B. =GIFT

C. Sf3se

D. TREE

Answer: D) FRRE1E

Explanation: IO ST TYASTTT TREE ST Mot NREE (ST FARf© 2T, 1
Siemd Sl F25eToy |

Question 86: (HIfFIF WIS AF; A (FAG?
IMCIOIECRERY
B. febiae i b
C.febifiafay
D. febita T »

Answer: C) feb1fSe fF b

Explanation: The correct answer is actually D: fSBIRE 7 5. (T1feld SHINGT 915 J1
fSoIfRe T 51



Question 87: (X FT CTI-9I%hY 2(© N ©I 2] -
A. 926936/ 93GH

B. ST

C. 1%

D. ¥

Answer: A) A35913(6/93G5

Explanation: 935911/93G (15T AMOETH e 73 I, JT PO S (GIF w3
AT ool AMEE Cra-9IHEd JF 3o FA© |

Question 88: FFHEHIF SITETTOF Tl (T STIT TR ©F TI—
A. fife

B. SV
C. ™y

D. FI&

Answer: D) & (Flagella)

Explanation: FT5e FFGEIEF (AT 9057 JT BT NO1F F1o00 I I3 |

Question 89: (FIMF-8¢:fT* Ft?
A. 336 TP

B. NASA-957 Sreyifas (GeicsTsf
C. {4 o1 AFf6 F%5a

D. SRSt o1 9376 a7

Answer: B) NASA-95 Stengfas (Gfacsr

o

Explanation: (FE-8¢:fF 936 9% 1 RENF o1, 9@ T WF Soalt greld bze
A1 @@ WF Tod 2831 Bfbw "D: REF JeT 936 97"

Question 90: HTATE IFS SIFP[E FAF SIEN THi© —
A. I3

B. (S=1f3T 83T

C. TaIfere ST

D. (BT CHfeRmTe



Answer: D) (ST CHIARET

Explanation: (F{FTe CORMRETE ST :R:0T FFA 9T HTAEN I3 NS0T S 91 F&
G?I?ﬂ"]ﬁ@ PO TH|

Question 91: AT AIAF F RETT—
A. R3NH+

B. SO3-Na+

C. R2NH2+

D. COO-Na+

Answer: A) RSNH+

Explanation: R3NH+ is the ionic group in soap, known as a quaternary ammonium ion,
which is common in soap formulations for its surfactant properties.

Question 92: (FT (IS (FHAA?
A. THNF =1 : TG 6

B. RIS =nfarsyrer

C. a6 : (SIS

D. TG : 716 28

Answer: A) T%F Sqﬂiﬂ‘j\: TG F6

Explanation: WWWW‘LWW 1R 92 (BTCI N2 | ©F T
5% Toafs D) IFERAT : 916 oF 7@, FIFT FIT6 o3 ITFERNT NI FE

Question 93: A2, IMHIMG 9T TFENET (TP ST -
A. 1T

B. FIEISI

C. febifse

D. (o

Answer: B) ST

Explanation: Incorrect. The correct answer should be D) (1fG. Enzymes, antibodies,



and hormones are primarily made up of proteins, which are essential for their structure
and function.

Question 94: TFIFIE @A (FFG?
A. 20°90’ G GIfEsRT

B. 39°9o’ TTF IFRH

C. x0°vo’ T IR

D. 9°wo’ GfEFel SHRT

Answer: B) 9°@o’ 53 JHRT

Explanation: S$aF118 (A3 20°wo’ TEF IR I A¥e, JT YRR Sed (oM SJFF
SIS T2 AT F |

Question 95: S <[5 STHTAT (FIAG?
A. 299° (TFBES

B. -x3©° HIEITR6

C. o° (TS

D. o° (Fdfed

Answer: D) o°® (Ffed

Explanation: o° (Fe(&e X(ET T3 &5 SITal, (I (FAT T SITTSIF < M 7|

Question 96: I (BTFED ST TSWBAT (Y F©?
A. IS

B. I@F 5
C. afe g

D. a5
Answer: C) @%5{5

Explanation: ST (8158 S3TTH el (1Y 9 Fu T SR a6 A1 o5 (@1
ST 2, J1 FAEF (SThs TR 6w FE|

Question 97: fag (46 Structured Query Language J3?



A. Java

B. MySQL

C. Oracle

D. TMET NISE

Answer: A) Java

Explanation: Java is a programming language, not a database query language like
SQL.

Question 98: RBIFEG (FTSNATST ITTT Hostname~F IP Address- Seq1m F(F -
A. FTP Server

B. Firewall

C. Gateway

D. DNS Server

Answer: D) DNS Server (Domain Name System Server)

Explanation: DNS Server translates human-readable hostnames into IP addresses,
enabling computers to locate and connect to each other on the internet.

Question 99: fET @ NGA6 Cloud Computing (3T SWHFISTT IR FE A?
A. SaaS

B. laaS

C. PaaS

D. CaaS

Answer: D) CaaS - Container as a Service

Explanation: CaaS, or Container as a Service, is not a traditional cloud computing
service model like SaaS, laaS, or PaaS.

Question 100: IHTAEL FIOT FHHH (FIAG?
A. Azure

B. @ NISET

C. Cloudera

D. AWS



Answer: D) AWS (Amazon Web Services)

Explanation: SIS F1GG SGHEE a1 26T Amazon Web Services a1 AWS| aft
SIS FIAT STHBIS 932 AT Ao ST FI6G AT TTaFI1 |

Question 101: 96T (@ TRIF AFAT RAGO A SR o5 Computer System T[T
FAC© @S 1 932 Computer System~F TIF SN Fa@ T WY FaT 77?2

A. Phishing

B. Denial of Service

C. Man-in-the-Middle

D. Ransomware

Answer: B) Denial of Service

Explanation: Denial of Service STm(el fSCEN Sfofae F@a FRCE T AP &
T, BT o 7T FAT T a7, STOF $8d 7@ D) Ransomware, (TN N TI2NET S5 o2
T 91 27|

Question 102: SCSI-a7 T F1?

A. Small Computer Standard Interface
B. Small Computer Software Interface
C. Small Computer Storage Interface
D. Small Computer System Interface

Answer: D) Small Computer System Interface

Explanation: SCSI stands for Small Computer System Interface, which is a set of
standards for connecting and transferring data between computers and peripheral
devices.

Question 103: f[AEa (@1 fEORNG 29 3 ISEL TeRT REIE F1& FE?
A. Scanner

B. Mouse

C. Projector

D. Touch Screen



Answer: A) Scanner

Explanation: Scanner is not the correct answer. The correct answer is D) Touch
Screen. A touch screen can receive input through touch and also display output,
functioning as both an input and output device.

Question 104: f¥E= (F19 Octal 5:2MfG Decimal AT ¢¢-97 THQT?
A. ¢¢
B. a9
C.®q
D. b9

Answer: B) 99

Explanation: Octal 99 is equal to decimal ¢¢ because \(7 \times 8*1 + 7 \times 8"0 = 56
+7 =63\).

Question 105: f9Ea (FA6 system software 77?2
A. Linux

B. Android

C. Apple iOS

D. Mozilla Firefox

Answer: D) Mozilla Firefox

Explanation: Mozilla Firefox is an application software, specifically a web browser, not
system software like operating systems such as Linux, Android, or Apple iOS.

Question 106: 3 (¥ (A 5 (FAH 22T (TS FART FAC (F19 TCP/IP (SNGIFA
TR 2 I?

A.FTP

B. RPC

C. SNMP

D. SMTP

Answer: D) SMTP (Simple Mail Transfer Protocol)



Explanation: SMTP (Simple Mail Transfer Protocol) is specifically designed for sending
and transferring email messages between servers.

Question 107: (T FEATEIF (TSI IS (@2 Sy FEATOIE BTG N I 27 SIF
BIGE

A. Program Virus

B. Boot Virus

C. Trojan Horse

D. Worms

Answer: D) Worms - IoF

Explanation: Worms are self-replicating programs that spread across computers via the
internet without user intervention.

Question 108: f6a (F19 AP 4G Standard SRFCFAT T2
A.1SO

B. ETSI

C. 3GPP

D. ITU

Answer: C) 3GPP (3rd Generation Partnership Project)

Explanation: 3GPP is responsible for developing protocols for mobile
telecommunications, including 4G standards.

Question 109: f967 (19 Open Source Software?
A. Adobe Photoshop

B. Microsoft Windows

C. Zoom

D. Google Chrome

Answer: D) Google Chrome

Explanation: Google Chrome is based on the open-source Chromium project, making it
open source.



Question 110: faa (@1 Protocol-G 2GEE0m B AWH-wIed [@arTal f[afee FE AF?
A.FTP

B. DNS

C.TCP

D. HTTPS

Answer: C) TCP (Transmission Control Protocol)
Explanation: TCP ensures reliable data transmission by establishing a connection

between sender and receiver, verifying data integrity, and managing data packets to
prevent loss or duplication.

Question 111: Piconet $1?
A. Wifi Network

B. Wide Area Network

C. 5G Network

D. Bluetooth Network

Answer: D) Bluetooth Network

Explanation: A piconet is a small network of devices connected using Bluetooth
technology.

Question 112: TIEEF foFd T (@ fbafb I9E? -> 14.PNG

A.S

B. 8

C.v

D.x

Answer: B) 8

Explanation: The pattern progresses by rotating the shapes 90 degrees clockwise;

option B fits this rotation sequence.

Question 113: P 433 Q 2 ®12| R 933 S R (A | P-17 (R X S-97 ©1R | ©IRET Q T
R-29 -



A. 3@
B.®1R
C. ffrer
D. BI6T

Answer: B) ®12 (brother)

Explanation: P-23 (0T 26T S-97 ©1%, 318 P 933 S-97 T 938 F3fe | 9% S, P a3k
Q 72 ©1% T8IF Q I R-F B |

Question 114: COIANE ST (INF CHHT, SO ST (G -
A. fom

B. FT1G

C. (T2 ey

D. 5[e1
Answer: A) frg

Explanation: COSeE CHAER AR 15T R4 FE, 63 Jold NRIET FIE 2w FE |

Question 115: 165135 I{" Peace %3, ©(F 1215225 -
A. Lead

B. Castle

C. Loop

D. Love

Answer: A) Lead

Explanation: The numerical values correspond to the position of each letter in the
alphabet, squared: P(16), E(5), A(1), C(3), E(5) form 165135. Similarly, L(12), E(5),
A(1), D(4) form 1215225.

Question 116: fGd fota (NG Foft fags wM=? ->15.PNG
A. Soft
B. 36
C. 8%
D. suf6



Answer: B) 53f6

Explanation: The image contains overlapping and nested triangles, and by counting all
individual and combined triangles, the total is SX.

Question 117: SIS %1 $a00 [IEF BEg I Fo 85 F1© 2@? -> 16.PNG
A. 8 (TS
B. Yo (3
C. v @&
D. b (F&

Answer: B) So (&

Explanation: IFE STTN THT FI© So (FfF 85 TR SO F AT FAH b (ofF 27|

Question 118: Y05 WETH b3 TINT SFHAF J(, 9352 TREF 59 Wb FT 17 el ?
A. BFIR
B. CTAETE
C. IT™feqd
R IECIE]

D
Answer: B) (79919

Explanation: $9 316 Yo ST S SR (@ $8 el S ©IfFar| u8 el A » 5
A3 S 1 53 SEFE SHIF 2 » NIR 77 932 19 1S SHAF 7@ 93 AF3 S ey 77
OIS 2F |

Question 119: ¢, 9, 50, 58, ..eu... ¢ HTHTE AFIEE WA Fe?
A. 59
B.sv
C. 3
D. 5

Answer: B) Vv

Explanation: SfSf6 25T S FARE 3, 9, 8 (FTT IR 38 AT NN 8 (JTT FAE Sb |



Question 120: "MEMORY" *&f65 SIX91d A< (FG? -> 17.PNG
AT
B. ¥
C.o
D. ¥y

Answer: A) §

Explanation: Option A) ¥ is correct because it represents the mirror image of the word
"MEMORY" written in Bengali script.

Question 121: FF-{6fFe 3 (F1F AT I7EG? -> 18.PNG
A. L8

B. Lb

C. R

D. Lp

Answer: B) b

Explanation: The pattern follows the sequence of adding consecutive even numbers
starting from 2.

Question 122: (FTE fF5F FIHT S0 2T A 220& e (F 2] FIH ©F NS (F1 (6
o oz 27?

A. how

B. what

C. who

D. why

Answer: A) how

Explanation: "How" is used to inquire about the manner or process, often seeking an
explanation or reason behind something.

Question 123: Y (FTH STRF THSE IAHF IS TENA] FTA@?



A. foee, fawdd, faasTe, fagm, ST, fasst
B. forfe, foramies, fafdw, fawsf, foers, famy
C. fafdz, fasrsf, faene, o fa, faass, famy
D. forta, faees, faams, faamss, fafg, fasst

Answer: B) o d, g, faf&g, o, e, s

Explanation: eI STOETE ST Af6 = F3 IF (V@ BF FE TAEPE
ST 27| 95g B-(w fe, ferasies, s, forstsf, foverres, feramema e et e
T AR AOFSE T TA |

Question 124: I PLAY-99 (1S 539 933 RHYME-23 (TG 89 b9 3F, O’
MALE-9 (15 R[{—

A. LYV

B. LS

C. \Ika

D. b3v9

Answer: The correct answer is:
C) Lyvt

Explanation-M=6,A=2,L=8,E=5.

Question 125: 92 NESG® M@ AN FO? © ¢ b H© 3

A. 38

B. Y

C.»

D. o8

Answer: A) 38

Explanation: sfSf6 53257 76 38! STaTTA (FT5T%; S + 38 = 08| JBAR, 3 + 98 = €|

Question 126: 936 (FATFEIETE TN 0BT A O TGIF F61 I JUE A ©F Fifana
F6] (FF IF NFE?

A &
B. 563



C. ufsgef
D. 8aF

Answer: A) &

Explanation: 5618 167 0-1 ATHE NG FI6T H3-a AT, TeI2 T w 3@

Question 127: UNESCO F© SIfHE 35 (ZFIEE Aedfod Moo as ReiE T3
3?

A. 5P TJOFF S99

B. X0 q(®FF R00)

C. 55 q(eFq R005

D. 59 AGTF S29»

Answer: B) o q(®FF 200Y

Explanation: 20 A(®FF 300 BIFHE UNESCO S (FF IR A eF Moo 3w
A FiPfe @

Question 128: IRTWTT RITHET IHF (F?
A. ST Sem

B. 5 fAe1sr

C. 3 NFTI

D. 3 &1

Answer: A) STSIT ST

Explanation: STSIF SW SR JoTe 3 PTG N RTNET T59 RO F15 FE |

Question 129: IR TFADIT THTWF qH 1?2
A. 3fEEE

B. ©rferg

C. (NS

D. 13

Answer: C) (TG



Explanation: (5TG IRF A6 A0 Sesw, 7 PfeMFSIET SEAFTST a3 A6l 9= @
SEfe|

Question 130: IRACTH J2GF GIFT (ST ABITPIE (T S0 ASGS [=eT?
A. STTeh

B. I3
C. afa@

D. 957
Answer: B) g3

Explanation: 5 & aSia@ e IReA0Ta 956 STyl SevsTw, T NS JRGH CIFT e
TFGS 0o |

Question 131: FIRACTCTH FH ST I FOOH JEATEE ‘AT [TFT (¥OIF olie Fa1 27?
A. 339

B. b &

C. 8% &

D. b9¢ &d

Answer: B) b e

Explanation: IRAWCE THTSl @ Vb 5 JERRNE ' (T3 (FO1F gi¥e FAT2F, T
PO NETS IS (FeH|

Question 132: IV TAFEF AT 3 AL N (F T ?
A. SISG W AREM

B. % Ses[F et

C. OT39 IS AT

D. 9 936 a¥ FINFHHTA

Answer: B) a% Se5{d G|

Explanation: JfA3sTa TIFTEF a1 3 ST 4! ey a3 sjq anet, A et yma
ST 93 WY AT SR |



Question 133: (FIF TNFEF AT JRATSTI FLT ‘IHET N A 0w 7T 3?
A. o

B. 89

C. T

D. 3[siferay

Answer: C) T

Explanation: ST SR A AR TET ‘T3 T AH00 TF 3 FIFT T
AT ST T ST L@ TS @AM 932 92 FHF IR ARFfoF 3 TS {67 S
S|

Question 134: IR IYN T J7F (F f=TT?
A. TR

B. SRS AT Ty

C. ™G

D. 3[f*fw fer 27y
Answer: C) fSaSSTIe

Explanation: SEASSTHIAN IR CTF NHT 9313 foewray, (e e I "o 2|

Question 135: ST (F1o FHAFT SFJET IRTACT AT FEA?
A. REE i

B. AT SR

C. 902 i3

D. %1 R

Answer: A) RS TR
Explanation: RS TR ST IREACT I3 FERE, I PP Ffie|

Question 136: (FTAT AHEF (N1 AT AT (T RIFHAF (FTA SAe[((7d [T
ST Sfey T FA© TF?

A. 88

B. 89

C. Sov



D. Sox

Answer: B) 89

Explanation: I STy 89 ASHIFEH (N1 AL THGH (F@ A6 MNSIE
SFTT T S|

Question 137: IRT@E I Tal9-
A. Isfemie

B. JGAE

C. 91994
D. 93 Gd

Answer: C) 9159%

Explanation: IRAMCTE NFFF T&f6 Toed aF; a6 a0 0T sed | It ¥ Sad
E q1, FIFT TOET (FIEAT AW (3|

Question 138: BSTI-a7 7 AIfsfE F1?

A. Bangladesh Salt Testing Institute

B. Bangladesh Strategic Training Institute

C. Bangladesh Society for Telecommunication and Information
D. Bangladesh Standards and Testing Institution

Answer: D) Bangladesh Standards and Testing Institution
Explanation: BSTI stands for Bangladesh Standards and Testing Institution, which is

responsible for setting standards and conducting testing to ensure product quality in
Bangladesh.

Question 139: IFSEH FIFE (F1 sl (T Y TART?

A. 7375 8 faRE
B. 7351 8 Afewam
C. %335 3 TfEFM

D. sF357 § SIS
Answer: B) 53357 3 15335



Explanation: I5re@id %7 Ik A 3@ Y3357 3 63157 A6 {6 STl 5T Y%
R |

Question 140: SN NSerT (F GO FEN?
A. 28T TS Tar

B. (T JRAT A (F TV I

C. NS NG N7 A ST

D. ST FICT

Answer: B) CTIE IR A (F BT 3§

Explanation: CTIE IRAT A (F HHTT I3 528 AT "©NYH NS ST FE, I I 1]
8 %S TEIES el I8 FH |

Question 141: ST SRAF A& TSI IFCT (HPIN, A F gfite =" SI{G (F F6a11
FEN?

A. 31 (Bt

B. oif2 IR

C. FTE TG I

D. SR STR%TR (Gt

Answer: C) FT8I TS 27T

Explanation: The correct answer is actually D) SIAT sTH%1H (B1§S1. He wrote the song
"SI SRFF & TROTET AFCT (%FE," which is associated with the Bengali Language
Movement and commemorates the events of February 21, 1952.

Question 142: (F1 (77 IR SATF SIH Iex AT o7 FFfe MaEm?
A. TREEIT

B. i

C. R’

D. fSyeE ferge

Answer: A) RERAT (Liberia)
Explanation: TREHIT IR SRR B Aoy e RHE Tl f@wm|



Question 143: IRTTCTT 4 ST ST~
A. 3o
B. v}
C. 3¢
D. 8%

Answer: B) v3

Explanation: IRAWCT SA31(H TiF© U JEMSIF AT @3 |

Question 144: fAGE @1 AFMOT SFHAT SHIEF IITAR SIFF A TR RETT?

A. N5
B. =fea1@a fofd

C. FE
D. §3Fg

Answer: A) SIJ&"a

Explanation: 3G 5134 "STISa" AfaBTE S SRATE TP AT S
TR REE, I1 7T MRS 87 93 FIFEF TR AT FE|

Question 145: IRTECT ST61F TOIF FIb GITF] ANT?
A. x5
B. of
C. ¢fG
D. 8fG

Answer: B) ©ft

Explanation: IRACTE STe1F FoI@E oft 19T T@®, I NI TEfEe|

Question 146: ISR J[&EF TaAw ‘TF 4% (FT SI A AIAFSIF (AT FAT TF@A?
A. 3 (BFTMF $>a8

B. X 6 vaaw
C. 30 afFe vH LY



D. 39 TE LY
Answer: B) 23 916 s>Q

Explanation: The correct date for the formal announcement of the =Y W% is actually
29 A6 LYY, so the correct answer should be D, not B. The Six-Point Movement, led
by Sheikh Mujibur Rahman, was officially announced on this date as a demand for
greater autonomy for East Pakistan.

Question 147: A3MEF R ANH J[GF T, ITEI RIF TH TSI R - o
FreT $@ 93 Qe (M ?

A. 3G 6 5

B. b fSHTT 29y

C. 0 JE 5298

D. 9 36 59

Answer: B) SV fSIET 8598

Explanation: The correct answer is D) 9 ST6 95. On this day, Bangabandhu Sheikh
Mujibur Rahman delivered a historic speech at the Racecourse Ground in Dhaka,
calling for the independence of Bangladesh.

Question 148: IRTCCT N 517 (1N 27?
A. frarseg

B. AT

C. Ry

D. g9

Answer: C) TSR

Explanation: g 357271 533 $ad: D) IFMaA | I 51 TS % 27, {0 3@
I, FBG 3 ATTOTAG(S |

Question 149: IRATCTT (I (ST NG (T BT I TA®R?
A. BB
B. 16
C. PTG



DNCIGEIEING
Answer: B) NG

Explanation: S5 (Sl IRATGCTS T 51 T ¥ SAIF@, (AT A5 BT Fioel
AR

Question 150: ‘¥ FTHlTOr IRATT RIFLET (FTH [ ATGE?
A. T 0y

B. Slq[(&=% ¢o

C. &% Soo

D. I 8

Answer: B) 9e[(%" ¢o
Explanation: 352w 8% &T17 F1diae] 713

Question 151: IREATWCT TN AWHIHIF (SATTAT) FEF IAef[D® 27?2
A. SR AT
B. Y99 N
C. $»9¢ ST
D. 598 AT

Answer: B) $»99 N (B)

Explanation: S>99 S R T AMNBANH 3@!%\9 3, ] FiFftTeIF 79 IAT
SR STefeT |

Question 152: IRTAWCTR fFGHT (GDP)-(® (F19 AMed AW STIEE (@2
A P

B. fra

C. iy

D. 591

Answer: A) 31X

Explanation: IRAWCTE ¥ Fifete FA AT A0 PRERNFSIE SENETST, (T



AEFIA SefsTef PAF 57 Hfw |

Question 153: Y030-303) IAT%(F &G (GDP) 23(%7 27 3972
A. ¢ VY%
B. 2.98%
C. 2.94%%
D. 4.958%

Answer: B) $.58%

Explanation: 3030-303s SI%@E IR HGHT 23fad TF 52T 2.58%, I JHTo! T2E@T
QA SEETT (|

Question 154: fATNRF FE IRTWTE fFF-F473 AT (7 RO ©IfFiFrge FE?
A. S T 2088
B. b T 2086

C. S TR 208y
D. S SR 205¢

Answer: C) 5 Wkosb

Explanation: R¥TRF 2056 NIEF S TR IR [F-3 NS (0 RO SIerFIes
P, ST (7 T IRACTT AR AT g vfifae [ sfom F&|

Question 155: I THIGTRE-X FI AW THGARG AT?
A. IS TIGARS

B. 89 WGR0

C. TS TIGAR0

D. S ATSE@T TIHARE

Answer: A) FNSAETH TIGAR0

Explanation: 3599 SIIGRE-) AF0 FRASAGE TGRE RO SAfaa{ers, A1 Gfersmms
3 SFIB1F (39T 9l ¥ |

Question 156: IRATGCT (AF® AFFIAT (Perspective Plan) IR $672



A. R03b-3000
B. R038-300}
C. R033-30(¢0
D. R03%-308Y

Answer: A) 2035-3090

Explanation: IR (356 AHFIAE STHIAAT 2038 (AF 2090 MG FHFe @™

Question 157: (1 (W (Y0P "AFF F'-AF bAT 37?
A. Brrg

B. fifaar

C. fafzan

D. fe S

Answer: A) frd

Explanation: fSSIRET 2050 S NIFRRNEET [T 8F 27, IT T AEI TN A
EIGISCRCIGIRICE! SLRIEIG]

Question 158: (1 ST AT {H NI 73 FE?
A. Rodo
B. 2053
C. 0%y
D. 20458

Answer: C) 205

Explanation: Correct answer is actually D) 2058. Russia annexed Crimea in :048.
Question 159: (@1 (W6 (SfASF AS@ A1 JTI?

A. STITET

B. 1T

C. TSt

D. Sfeifean

Answer: A) ST



Explanation: ST (S afe@ M (w1, s1fd% Tea D) e, F1aer e
G EPGRIERIRICIE ISR TR

Question 160: (FFG AT Foahs’ (FTF (T W RIFT?
A. fe@ea

B. T8a (1=

C. it

D. St

Answer: D) Sia

Explanation: (305 (ATa] FHa1' ST BT 72 AT FolaoP @I (@RI, T

SPEfed IRISFE (@EF NP S A3 JHHe FA© 920 2@

Question 161: f6F (F1 (71fC ASEAN (S16g® FI?
A. T8N

B. F@EIGA

C. femmeam

D. 3%

Answer: D) 3%

Explanation: 2232 ASEAN (STGF w5t 9F; af6 a6 o srrwfas sreee a3 §ieg ol
Question 162: f9Ea @19 (W6 &b 97 Fus5 93?

A. ST

B. 389

C. frrg

D. SI6

Answer: B) 399

Explanation: 2381 f&-v 97 5w, JodR SdF Sed ) fira, F1a9 firg fG-v a7 st 7371

Question 163: World Economic Forum-a3 I|3Nf{F @'FW@?TWQQ ¥o 2J?



A. SRSt
B. gfF¥
C. I

D. nite™
Answer: B) §fF¥

Explanation: The World Economic Forum's annual meeting is held in Davos, not
Zurich. The correct option should be D) wlteTH.

Question 164: O3 §fe" (F1 4i6 FFF N IS0 27?2
A. NRFIF 8 AN

B. ®1F© 8 AHsNfA3

C. IHNAIT 8 (Nfo@e 28074

D. MNFIF 8 /e

Answer: D) TfFIF 3 B

Explanation: ©1937 §f& S G b T ©1F0 8 MFINFT N&T TS 2@, I vH L ¢ TEF
RS- MNFI Y@ 7 e SO 7H F41 27|

Question 165: TASTEONE IREF (FF [ TOTET TENFT AFIGI AT AT BF 77?2
A. (C6FF NTF ¥ (E

B. SR EF AT TN A5

C. A5G M O (T

D. AT AT T (I TG o FAT TR

Answer: B) S MIF I NS

Explanation: STfosk¥ 1A 33w F1XF AT DfeTosd CHaa AH g
AT B =T, T MBI NI SN TGS FRIFNMR TS |

Question 166: fJ5T® COP-26 (F19 & o 1?2
A. (ST
B. smifas
C. FTTTS
D. &St



Answer: D) &S0 (Glasgow)

Explanation: COP-26 I @& aseN *X(F, I FohIS A5G |

Question 167: IRTATET 3 SIS NS =M BT N Ib §fe F3a O 2F?
A.xo080
B. 090
C. 2038
D. 03y

Answer: B) Yo0wvo

Explanation: IR 3 ST W& S5 A b6 K S6 SDdY FT wo TG Sl
IS Ho 2%, I 2090 N ¥ 2F|

Question 168: (FT (WIF RSETT Fo7 I I 27?2
A. ST

B. 2@

C. (TS

D. RS

Answer: A) STl

Explanation: ST« 18 S $AS 932 TH FaTd 175 ST ely 2OEH 67 3T
RICKIBISC]

Question 169: STe@ET HFT S3NTS 2T TN (FIF (M(T?
A T&F18

B. IIT ®1F@

C. Mo @™

D. melT &AW

Answer: B) T8l9 o9

Explanation: T8I S13(® SITe@T MNNF T T 3 STy TRSTATW (WAT T, (T
AR FSISfeT T Norte 3 HaE T2 $F T1Xe |




Question 170: 4« A% (11X International Union for Conservation of Nature
(IUCN) =fsfde 732

A. SDER, TIITH

B. 5385, SRIAFTIS

C. SV, (@

D. Y28%, BT

Answer: B) 385, SROTRTIS

Explanation: [IUCN was established in 1949 in Switzerland, marking the beginning of its
efforts in global conservation.

Question 171: (FF b AEF A FIT (Gf6G (Camp David) §fe IHEF Hezpiote
BTIRETH SET T POANGP =7 5 F(?

A. To ST 8 ST

B. $@® 8 IRARA

C. fafar 8 s3a

D. 5619 8 g

Answer: D) ST 8 forg

Explanation: 7 (SfeT §f&a 7 frTa 2ERER MG 599 ST 93 TEH S8 ST FJof
FoANSS TIF T FE|

Question 172: ¥R Jf&Ta TFA "Fa6 HF IRT@T (Concert for Bangladesh)
(FTT SP® IFT?

A. FNEHT

B. (IF5A

C. 39

D. frg3a®

Answer: D) fq533%

Explanation: Fa96 T IRA@T S5 ST fFS2I@T MIRGTT (FF STEE Aq[O0
BIQ e |



Question 173: SNfeES fFATT=aT *fTTGT I THT 79 Fo TAII TNy ?
A S TwF
B. ¢ 9%
C.83%d
D.x T%F

Answer: B) ¢ =9

Explanation: SIS fAarmar afiAma oS Tonma (7AW 2 I29 29, O3 0% ©8d D)
R 9Rd|

Question 174: I@Hf6F AWed AT [T619F FI TG Sl fT1ow 2?
A. fod T
B. e =9
C.519 %7
D. 93 %d

Answer: B) ST® &g

Explanation: A@Hf6F AW [FEIRFAT N6 IRE@T 5 @166 3o, I OId (TAWEFT
fersfaer F&F |

Question 175: 21 3 SN0 TSE SHOIF TG Re-
A. IO AP

B. 1383

C. afeamd fa89

D. fewifaas

Answer: A) I AT

Explanation: 3 8 S[fHed J81E S THSF 8 &5 ey HfEaee o, 2
AR AP ST AN |

Question 176: 203X N (@ (7 IfONET NEFIHT FHHET oo Fow 232
A. I&4 A
B. REETIS



C. 9199
D. T

Answer: B) SROTFTS

Explanation: SRSENIS 2033 N TGHREF TMREIHT FHRAEF Forsife R AF1te
MRS, IO ABIMOF MM TEBF FFT O] IR FolAed THeld Jhe%ee |

Question 177: (F9 4@ N SEAPT NFT TE[AT TER?
A. I e

B. #M&fFw e

C. OE@F (PR 97

D. serfers et

Answer: B) F R e
Explanation: =S e MPfos SfFaT 16w 27 93 Siary 4169 Fa00 |

Question 178: f46a (F1 THIEE FAFF TSN (R3] T8I 97?2
A. T

B. 2T

C. 5FfrS

D. gf¥=sy

Answer: D) QIﬁEﬁml
Explanation: QIﬁEIS(*"’IEI. TS (MBI ely T ST ﬁ’i!@ 7 T&fe AAE SFo 23|
Question 179: GRS TN S (T IA6 (J TTIT2T?

A. =TS
B. SGTare

C. @ &ad
D. =T

Answer: C) Tamld
Explanation: TA&%1d 3@ HOF AIFTON SAfSH1 932 ATSIIF FTHFN I Fely




TS Y T 2F |

Question 180: (FA6 AIITIIST T=T47?

A. TIPFSF ST
B. R
C. I

D. I

Answer: C) 3F7 (Coal)

Explanation: 3:f¥s, 733 Seaft g @™ | % Sed 2831 Sfbw: D) I F1E I 456
FIRAETST 577, Af6 AFTOFOIF AT T 27 AR AASNE TR FA] I3 |

Question 181: f¥Ea (FTMG IRTICCTT JRGH SHEHA?
A. FIFET

B. 2397

C. 23573

D. fsem

Answer: C) 23513

Explanation: 2353 STISa IR 287 TN REE T |

Question 182: IRATECT B<F TF7 9F(6-

A. SR TFY
B. 90t fa3ger 399
C. & AfF32d 459
D. T 3359

Answer: A) Gﬂﬁi{% Ig
Explanation: f&-(F 5&9 IRTNECT 936 SeAge T39S af6 958 S AWER &y Serifes

IRH S|

Question 183: COP 26-3 COP T $1?
A. FIHEH AT AT



B. A% @S 91T WY MSIF
C. FIBIEN 9T W TGP
D. %@ 919 W A6

Answer: B) $a4%1EH A9 Wy 73T (Conference of the Parties)

Explanation: The correct term is "Conference of the Parties," which refers to the
governing body of an international convention, such as the UNFCCC, where parties to
the agreement meet to review progress and make decisions.

Question 184: IRATCIE F-R@FNT B3 97 (FTA6?
A. SIEF (TR 97

B. STow vl
C. oo 3w T
D. 59 59 F4Y

Answer: B) 34 3
Explanation: s34 73 $-3@ AN Sels I35 SIIET3 |

Question 185: TIS[F T°6 I AFM I63 GNFCHF 7 IRTCCTT (F1F Tal ©1F STo™T
AHTOT FE?

A. (T AT

B. sty o¥il

C. Fefgfer a0t
D. F%*a a4t

Answer: B) T4y 5t

Explanation: 51 701 ST0fF %6 1T YRFEF T ©F o7y AfHTed |

Question 186: IR JN FIMNNSH AR (F°0 (P A FO?
A. FIFR, TBTNG

B. STT®H, GIFT

C. o1, s8am

D. ISIFT, ferovd



Answer: B) STo1q, GI3[

Explanation: IGTFE31, MG IRTECTE 53 FIANNGF AR (FCUd ATIH | o1,
GIT S 31

Question 187: ST BHTETF (17 S “SHIGE’ 2=
A. BFONE FETMIET (@S

B. TEFIF FAFOI0I AT A0S

C. ] S APTO; N3

D. ewl 8 Wede] FIF] TolfTe AGIITe BIFF

Answer: A) SO FTTEST (ST

Explanation: STe!T SHIEIF (I JE SABIF I IS T (F@ 3qe] 3 $3FF
4 ce FI1F afHmaT|

Question 188: IRAMCT GO WIAI (T FAT 2@ F [RHA-
A. S Yo ST JTe wafAfate

B. X008 ST FAt® YNNG Tl HarTel ST

C. 05 S 1@ AT FHCIA (o 8 St ffanee

D. STET NISE®

Answer: C) oMb NI H1e STAPTET FHGIET (YT 8 Irfie) ffEmente

Explanation: 205y ST Tt STIFTA FHCTRT (T 3 3rfe) fR{fEeme qHife@ 7oy
ST RO (T FI 2@, I NI FACE0E AGFT TIHCEF &els (o [f7e |

Question 189: e F@ ST Ao 2@-

Answer: B) ﬁ\ﬁll\a 14 ®F (Corruption decreases)

Explanation: SPT SifidfeF 4@ T%e] 8 SARAMRS] 6w FE, I qdifo FN|



Question 190: SO TSI FACSTEA AT~
A. UNCLOS

B. UNCTAD

C. CEDAW

D. UNCAC

Answer: D) UNCAC - snfeos:Ema 'ﬁ S Faea T+ (United Nations Convention
against Corruption)

Explanation: UNCAC stands for the United Nations Convention against Corruption,
specifically addressing global efforts to combat corruption.

Question 191: STSTES FNANET FIEF ST TAI-

A. (Toted =fe Aesres
B. T= fo(T6er SRrTe
C. *f& el ASfes we

D. TesRFel

Answer: A) (FoEs 3fS SAsTes

Explanation: (g 5 Se[sTey STelf®a FTENE 37 S, FET A6 (FoEa afe
fErTT 3 ST Sl FF AR STeTeliad HfFTE FFRIRPe! oo FE|

Question 192: T[T AIET (F@ “TNHT :HT@ (conflict of interest)-17 &I TJ T3
Rieds NaT@ STE-

A. TRod O TN Sfbe ATE

B. eI S 1 TeI06F TN Sfde A

C. ST I &fbe AF

D. a8 SxF1A! FHFOIF G I AFAMET Twhhmd T Sfew NF

Answer: D) & S2@ 19l FHFOE fosd 1 AHIET Twies ¥ Sfse A

Explanation: T39 &R SEIFE! FAFOF TfEsTe T AFINET Tonma T fF =3, o2
©IF (TS WY M Hfeste ¥ FelTe Fa® MNE, I T RI© JE FE|

Question 193: AZ 3 ST GASAITSIT S5 FIEF (@ 71H-



A. IR TR ST
B. II%% (g%
C. & AR T3

D. [WfeeT 8 NN el

Answer: D) el 8 FHERNEF Ae]

Explanation: [@fS3Fel 8 JHETHT TSF NI NOF 3 ETF TAF (FRH Fol I
O, T ST o] TG |

Question 194: TNRFSIF AFGF NJFF TAINT ST 3 TNEF FTENEH [FHFT HCG-
A. ST IR IR

B. famee

C. FNZF AT

D. Affa&®

Answer: A) STE IF1CTF AT (Through living in society)

Explanation: ST MV STae § TN FeTNRNEH 1T Svens s FrfEana
ST o, (AT (S ARfe oz, @, 932 aeae x|

Question 195: TowIF S} =T FUT IERA-

A. (5F6
B. (656G RGN
C. o T

D. XA FT6
Answer: B) (GfeG 289

Explanation: (Gf&G R38¥ e W NUwI 3 Toold JE 37 MA@, I 0F (e
OEF IR

Question 196: (J ST T Je[F ‘T 3 "VF'-97 MNFY fVHT FA© TH, ©F (=-
A. T&BT

B. SI61E

C. FOIEY

D. IS



Answer: A) T9wT (Accuracy)

Explanation: ool MEI@ o} 3 I & *1¥F Fa00 20! FE|



